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25
. The numerator in the fraction '6 is

(i) 0 (ii) 26 (iii) 6 (iv) 7 (v) 25

22
. The denominator in the fraction 3 is

(i) 23 (ii) 22 (iii) 5 (iv) 0 (v) 6

4
. The like fraction of; is

(')l(")}("')}(')l()}
i ) o G o) o (v) g

17
. Convert E to mixed fraction

(O 1 Gy 1 (i) 10 (v 1r W) 1o
I 10 ! 12 ! 14 W 4 Y 12

5
. Convertl§ to improper fraction

(i) 1o (i) '14 (iii) 2 (iv) 10 (v)
e R U i \ Dl

. Identify theproperfraction

(i) 133 (i) 63 (iii) > (iv) 6 (v) 13
7 5 2 17 11
. ldentify theimproperfraction
(i) ® (i) 19 ! (iii) o (iv) ! (v) 115
i) - ii - i) - iv) - Y, -
15 18 14 4 8
. ldentify the mixedfraction
(i) 19 ! (ii) 2 (iii) 1 (iv) L (v)
i . i) - i) - iv) - V) -
15 4 6 13 6

1
. The unlike fraction of 3 is

(i) > (if) : (iii) 2 (iv) > (v)
2 2 9 2
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10.

11.

12.

Which of the following pairs are like fractions?

12(__)54(_“)22(,)67() 3
ii , iii 43 iv 7% v

W53 66

Which of the following pairs are unlike fractions?

9 2 7 13 1 19

(i) - (i) - (iii) (iv) >3 (v)
! 10 ' 10 ! 17 " 17 . v "6 v

1922 6

3
The equivalent fraction 01‘-5 is

W 2 Gy 2 iy 2 v 22 () oo
I 45 ! 46 ! 44 W 44 Y 45

3
13. The reciprocalof-4 is
(i) ! (ii) : (iii) 2l (')(_2) (v) 31
i i) - iii ; iv) (- v -
3 3 3 3 3
1 .
14. 3 of208 is

15.

16.

17.

18.

19.

(i) 26 (ii) 36 (iii) 41 (iv) 16 (v) 11

3 .
of is102
P i—

(i) 146 (ii) 151 (iii) 126 (iv) 136 (v) 121

8
The simplest form of the fraction 16 is

(i) (1) (i) 1 (iii) 3 (iv) : (v) :
) (5 (i i) o (v) o (v

17
Find the equivalent fraction of 12 with numerator170

(0 170 (i .170 (i) _170 (iv) _170 ) _170
I 84 ! 56 . 140 W 42 Y 70

3
Find the equivalent fraction of 15 with denominator57

(M 22 G T (i) V) ) o
I 57 ! 57 . 57 WV 57 Y 57

19
Find the equivalent fraction of 1 with numerator190

(0) 190 (i 190 (i) 190 (iv) 190 v) 190
120 60 36 72 48

12 '19



20.

21.

22.

23.

2
Find the equivalent fraction of 17

(i) 8 (i) -14 (i) - (iv)
I 102 ! 102 " 102 v
. 0800
Reduce the fraction
12960
(i) > (ii) -1 (iii) (iv) -5 (v)
4 2 6

7

Which of the following is a unit fraction?

(i) t (i) 2 (iii)
) g (D (i

(iv) 16 >
9

(v)

1
20
5

Which of the following is a complex fraction?

. 2 (=)
(i) 18 (i) 8 (iii)
3
2

(iv)

11

(v)

with numerator12

2
16
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